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6.1 - Rate of Change and Slope

e Rate of Change

e Slope
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m For the data in the table, is the rate of thange the
same for each pair of consecutive mileage amounts?
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m Below is a graph of the distance traveled by a motorcycle
from its starting point. Find the rate of change. Explain what this rate of
change means.
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m Find the slope of each line.

b. Find the slope of the line.
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m Find the slope of each line through E(3, —2) and F(-2, —1).
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@EZEED Find the slope of each line. . Find the slope of the line.
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Homework: pg. 312 #2, 6-16even, 22, 26, 28, 48, 53




